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Domke 1992et al.
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������� $�%�%�& ����	������� '����� ���
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	�� I9���	��� ���
 ������	����� )��*������ ���
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���������� ��� ����  ��������� ��� 
�	 10, 8n���	��& 
�� ��� 
�� I9���	��� ����	+�	��	��& ����
����������� �� 
����	 ���	���	����� ��� 
�	 ,
�	���� �������� 
�� ��	��� �� ���	�& 
�- 
��
���������  ��������� ����� ���	 ���	���� �
����.���	� ��	
�� �/�����

���� ������������ �������� ������� ���������� �� ��� �������	�� ����������������
��� N ��� n ��� ������� �� � ��� ��!���� "��#����� �� ���� ����� $����������
��� N(K, T )A

n � %�� &������������ �������  �����  ����� ����� ���#������� %�� �����
$������������ #'���� #���� ����#��� ��(��#�������� )�������	�� 	�	����  �����* ���
�� "������������������� &���������  ����� #'����� +�� ������ ���� ���� 	������������
������������� ���� ��� ��� ��� ,����������* ��� ��� ��� �������

%�� $���������� A #�����-����� ������� ,������������� +�� ��� ���� .�����	�/�������	
��� ���� ������������� ±�,�����-������	 &�� 0����� ��� 1��� 2�34
 5� 6�������� /��
A = +1 �� �	�� ���� ����� "��#������ 	����������	 ��/ ,��� ��� ���� &�� ��/ ����� 5/
1��� &�� A = −1 �� �	� ���� ����� ��/ ,��� ���*  ������ ���� ��� ������ &�/ ,���
��������� A = 0 ���������� ������ 1����* �� ����� �� #���� #���� ������� ,����������
� ������ ��� "��#������ 	��� � �� ��/ )������� ��� 1���*  ��� ���� ��� "��#���� �/
���������� ������  ��� �������� &�/ ,��� ��-����*  ������ ���� ��� ������ "��#����
���� �� ,������� �������� K ��� T  ����� /�� ,������������ ��� 7��#���� �	��	��
��� ������ "��#������ �� .��������	 	�������� K* T * ��� A #'���� ��� ���	�����
7���� �����/��


K = N − 1 − T, N − 3 − T, . . . , −(N − 1 − T ) 8
�9:



���� ��� ����� ����	��
����� (K, T )A ��

T = 0, 1 �����

A = +1, −1, 0 �����

�	
� ���
 �	�� �� �	�� ��� n ≈ N ��� ��� ���������	���� ��� K ��� T ���� ��	�� ��
!� ����� ����	��� ����	���� �� "������  �!� �� #�����$ #�%�� ��� %����� &���������
��� '�(���� ����� ��� ��� )��� ��* +�����	���* �	* �������� ���� �	�*������� ��
���*�� ,���  �%� �* ��� ,�� �� *��%�	����*-�	����!	�� υ = (N − K − T − 1)/2�

e-e-

He

�%%����� ���.

��� ��� �	�� n � N �	 � �� �	�� ���� 	�*
�	���
�� ���������	���� �/
 �%�� ���
0����� Θ !#�*
��� ��� &��������� ����� �� ��%%� ����� 1	%�� �*� ��� &�#	���� *#���
��* 2#�*
���#�����* 	� ��'���� ���
� 〈cos(Θ)〉 ≈ −K/N �

1�� 	� *�'��*��� 	����������� 3����� %�*��!�� �� ��� 4� �� ��� 5�	����!	���� T = 1
��� A = +1� 2�%�� �� ��� ���
 ������� ��� 	% ����!�� 3
����%#��*� N, Kn ���� 3�� �	��
	�� *��
�� 2�*�'��� �1P u� 	� �#����� #�����$ ��� 	�* ��� 1Sg67����!�*�	�� ���
�
����� 1�����%�� 	� $ ���� ���
� �%*������� ����* 8�����*$ 	� ��� � #������ T ��� A
#����� ���� ��
�� ���� 	� � �%��$ �	 *�� ��� ��� �������� � ,������� ��� 4�*��	�!��
�� ���*�� �	�� ��
�� ���#���� *���9 *�� �� �%�� *�
� 	�� ���� ��� ��*#	���� ���
��� 1�����%�� '� � 	�* ��� 	������ 5�	����!	���� ��
� �	
� ���
 *������ :�#���* ���
N, Kn63����� ��� K = N − 2 	� *�'��*��� *���� 1��* *����� ��� �;�������������
,������� �%����� �*���� �%%� ��<��

�� ��%���	
�� ��� =	�*	
��$ �	( �	* ��	**�*
� %���	
����� +�����	��� ��*�	%�� �*�
��� *��� 8�	*���	�� �	��  �������� 3��������� 	��#��*�$ �*� ��� &;�*���! ���*�� ����
5�	����!	���� �>
�*� ��*�	����
�� +�*����*
�  �*����  �%� �* ���� ���*
������� ����6
����*
�� )��!����$ 	�* ����� ���	�* *�� 	% ������� #����� �>�����

��� ����������	���
���� 
����� �	� ����
�� �� ���

+����
� �� ��� *
��'����� ���� ?%���� �� �� ��*���� ��
� 	�� %�*�����* 	*@������*
�
	� ��� �� 2�*�'��� ���$ ��� ��� n � N  ���$ ���� #��� ��� &������� �� "����� *��� ����
#����� ��� )��� �������� �*� 	�* �	* 	������ &* !�� �� *�
� :���
�$ �	( ��� &� �%��**�
���*�� A����*�
��� 	�
� ��� 2�*�'��� ��� n ∼ N  ���� *����



�� ������� �� 	
��
��	��

��� ��� ���	
���� 
�� ��
� �� ����� ������ 1/r���������	 ������� ��������� ����� 
��
��������	� �l ���� ������� ��������� 
�� ��������� ��� ������ ��!�"�#���

�a =
1

2µ
(�l × �p − �p ×�l) +

Z e2

r
�r ��� ��
� $���� µ %&�'(

!���� )�� ����������� $�����!������ !�� ������	 
�� *�	��+����� ,	� &�' ��� ���
����� �-������������ �� 
�. 
�� �������
���
� /������� â ��������
� ���
�

��� �����
��� 0���1�
� ��� ���
����������� E �������
��� 
�� ������������!���

������ 
�� ��
�� ����������� 
�� /��������� �̂l ��
 �̂a′ = �̂a
√

µ/(2E) 
�� 2�����
�
��+��� 
�� ,����� 3/%4(� 5����
# �� ��� 6�78 �����!�� +�� 5�	��� 
�� /���������
�̂L = �̂l1 + �̂l2 ��
 �̂A′ = �̂a′

1 − �̂a′
2� �� ���� 3/%4(�9	����� !� ����������� ������ ���
� ���

�� "���
���+� ����	������ ��� 
�� ���#:��	�
��� 0������	
���!���1�
� |Nl, nl′; 2S+1Lπ
〉

#��������� ���
�� ������� �� ���� ��������� ������� +�� 
����	� ��������� 0���1�
�
!� ��!������

;� 
����� 0����������� ���
��� ��
� ������	� 
�� <������!��	�� K ��
 T ��+�
��� 
�� ���
�������� 
�� 
����	� ���������� 0���1�
� 
��
� 
�� �� #����������� �����
�	����� =�
�
� ������ ����	��� �������� ��
 
����+ ��������
� ��
������� �����
��������

��� ������������	�� 
������


��� 5�	����5���	������������� Ĥ ������	��� 
�� ��
�� ����#���������� 
�� /����
)�#����� 
�� ���
�� 2	�#������� *���� 
�� 9������� 
�. ��
� 
�� 5-�����
��� R =√

r2
1 + r2

2 ��� 	������ %�
�������
�( 1�
���� #��� Ĥ �� �����
������� ���
��� 
�.
R ��� ��
� �	� ��������� )��#���� ��
 ��
� 
�� ����	�� ��+ +��+ ����
������
)���������� ��� +��+ ����
������ �������� ��� 
�� ����������� 5-������#�	 α =
tan(|r2|/|r1|) ��
 )��� ���������
��� >��#�	�� 
�� 
�� 9����
����� 
�� "�#����� �r1

��
 �r2 �� ���� ���
�������� ?������
�� ��
������� ������� 
��� >�		��+��#����
��� ΨS,π

L,M ��
 
�!����:���� ��������	#��)�� E(R)�

 �� 6&@� &48 ��� ��������	#��)�� A��	�����) )���	�
��� ��
 ��
� B��	�
�#����� 
��  ��

����
�
���)�����	����� !���
��� )���
���
���� >�		��+��#������ ��+��
��� ������
����� ��
� ��� 3
����� 
�� ��� 
�� <������!��	�� K ��
 T � 
�� �
��� )�� 5����
# ��

��� ��+��
�� ���
�� ����� � ��
 
�� ����� <������!��	 A ����
��� ���
�� #������
 ��� �	����C#����� ���
 ��
� ����� ��)��1�
��� �������
���

��� �������������������	�� 
������


������ ��
 ������ 6&7� &�8 �
�	���� )��� 
�� 5�	������� �	� H+
2 �$�	�#�	 !� �����
��

���� ����� 
�� ��		�� 
�� ����� ��
 
�� 2	�#������ )������
�� ���
��� ��� 
�����
������� ����� ���	� �
���
��� 	���� ���� �
� ����
���������	 �������� 
������
����� 	�� ������������� ����� ����	������  ��������



���� ������	
�� ����
����
	��������� ��

������� �	
� ��
 ��
	�������
���
 	� �����	���
�	����� ������
����� ���� ��� ���
��	��� �
�������
�� �r1 ��� �r2 ��
 ��	��� �����
���� ��
��� ���� ���
�	����� �
�
 ����! �R = �r1 − �r2 	�� ��
 "����
# ��
 ��	�� �����
���� ��
�	���� ��� �r  �	�� ���
	�
�
 ��
�	���
�� $����
����� ���  �
 ��
�� %�� �	
� �R ��� �	�� ��	����	����#
���� �	�� �	�� ������
 &���
��� '
()�# ���������# ����
�� �	�� ��� *
����
 ���
��+���� ����� ���
�	����� ��+ �	� �
�	 ��
�������� ��� �r 
��� 	�
�� �	���
 $��
	��
	��  ��&���� �	��� �����	�����# �� �	�� ,� ��
��� �	� �����
���� -��� ��
	� �R. ���

������� �������� /	� ��	 ��
 0��������� ��� H+

2 �&���	���� ��������� ���	��# ��
���
�	� /�����+����	���� ���
 *
������ ��� ��������
�	�����# 1����	���� ��� "	�
��	����
 ���&���� �����
�	�
��

�	��� 0����
�	���� ��� ���	�
���
� +��
� ����+����  � 2������ �����# �	� �	�� ��
��
�	� ��	��
 ���� �	���+��
��� 2������ ����� K# T ��� A ����
����� �������

��� ������	
�� ����
�
�
�	��������
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(�	���
���	����� �	��� 5������
�����	����� $6���
� ���� ��
 	� ��������
7&���� ����6�	��� ���(�� ��
���� 8� ��� 
�	���� 7&���� 
����� "�
�	�+�������� ���
*
����
� ��
����

�� ��
��� ��� ������ ���� �	�� �+� ��
 ��
�
	���� 9(������

(��	��� 8� ��� :;�
# <;�
 ��� =;�
 ���
�� ��� ��� ��� ���
�����
�� ��
��� �	�	��
�������� ����	�����# �	� ���� ����� ���� �	� '
������� ��� 
���
��� 9(�������
�
+��
�� �	����� 8
 9��+� ��
 >�	� ��
��� �	� ��	��
����	����� ��� ��+ ��� 	���� *
��
���
���������� ������)��

%��� ���
 =; ���
�� ����	������ �	�� �	� ���� ����� ����������� �������� ��
��� 	��	�	�
� ��� ��+��+&���
�# ��) �� �����
 +&���# �	� �
��
����	���� '
��������  �
�
������� �	�� ����	��	�
�� 0����
�	���� �	���
 "�
+��
�� ��� 	�
�
 ?�������� ��+
�	� *����	��	���	�� ��� ���	�
 ��
�� ����
 ��� 1��
�� �	���
 ?
��	� ���
���	����
8� ��� +�������� ?�����	���� ������ �
�� ��
 �	� '
����������� ��
 �	���	����� ���
������ ��	  	�
� ��
���# ���� ,����� ����	 ��+ 	�
� ��� 	���� ?�������� ��+ ��� ���
�	�
�
����
 �	� �������

����� �����	��
���
�	����
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@
��
����	�� ��
�� �	��� ������� +�
 �	� $�
����� ������
�
 �����
���� �� /����
�
���A���
�� ����	����� BC�# CDE� ?� �	���
 0�	��	�� �
	���	�
� �	�� ���� �	� +�������
0����
�	�����

0������� �	
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	� ��
 �����
���	�� ��� ��
	�������
���
� Ĥ # ��
 �	�� ��� ��




�� ������� �� 	
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��	��

�������	�
������ 
�� ����������� ĤH �	
 �����������	 �����	 Ĥe−� 
�� ���� ��� 
��
��������������	� 
�� ���������	 �������	� ������	� �������	������(

ĤH + Ĥe− + E
)

Ψ =

(
h̄2

2me
∇2

1 +
e2

|�r1| +
h̄2

2me
∇2

2 +
e2

|�r2| −
e2

|�r2 − �r1| + E

)
Ψ = 0

����� 
!���� 
�� "	
�# � 
�� ��������� �������	 �������	���

$�� %������ !��
 �	 �!�� �������� �������& ��	 �������	 !��
 ��������	 	�� ��� �#���	��
%�������� ���������� �	
 
�� ��������� '(���� !��
 �������� 
�)�	 ����	
������

$� 
�� ��*���+�	
� , �
�� �� -��� )�	 "�	������	 �������	
� , �������	 ��� ���	�
.���� ����	
��� !��
�	 ��		� ����� ���� 
�� /������	����� E �������	 ���

E = E0 +
h̄2

2me
k2

0

��� 
�� /��	
�����	
��	����� E0 
�� .��������+����� �	
 
�� .����	���� k0 
��
��	���+�	
�	 �������	�� $�� 01��	���	���� ������� 
���	� 
�� .����	*�	����	 Ψ �	
��	�� ����� )�	 .��������+����	*�	����	�	�� ψn �� �	�!�����	� $���� ����� 
�� "	
�#
n �(�������� *�� 
�� 2��	��	�����	 ����� �1������	 ����	*�	����	�	� 3�� 	4� ��� 
��
/��	
�����	
 �����	��

Ψ(�r1, �r2) = A
∑

n

∫
ψn(�r1)Fn(�r2) ����� 

$�� "	������������	 ���� 
�� 31��������� �	
����	� ���������� ���� ��	��	��������� 5�,
���	
� �� )��!�	
�	� $�� '(�����������	���
������ A �	 
����� '����� ���� ��* 
��
�#
������ ��������������	� 
�� 6	�	��������
������� 
�� �������	�	 ��	!����	� 5��
5!��� ��	�� ��	*����	 $��������	� ���� ��� 7�
��� �� *����	
�	 	���� !����� ����������,
���� !��
�	�

��	�����	 )�	 /�� ���� �	 ���� ������ �������	 ��� 
�� ��������� 
�8 ψn ����	*�	�,
���	�	 )�	 ĤH ��� 
�	 ����	!����	 En ��	
� 
�	 9��
����

∑
n

∫ (
h̄2

2me

(∇2
2 + k2

n

)
+

e2

|�r2 − �r1| −
e2

|�r2|
)

ψn(�r1)Fn(�r2) = 0 ����� 

��� k2
n =

2me

h̄2 (E − En)

3����
�������	 )�	 /�� ���� ��� ψ�
m(�r1) �	
 �	������8�	
� "	��������	 ���� �r1 *���� ��

��	�� '(���� ����

����� $�+���	�����������	��	 *�� Fn(∇2
2 + k2

n

)
Fn =

∑
n

∫
UmnFm ����: 

��� Umn =
2 me e2

h̄2

∫
ψ�

m

(
1

|�r2 − �r1| −
1

|�r2|
)

ψn d�r1 ����; 
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d2σ(θ, φ)

dΩ
=

σtotal

4π

(
1 + β

[(
1 − sin2 θ(sin2 φ + S1 cos2 φ) + S1 cos2 θ

)
+ 1

4

])
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1
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����������� ��� ��� ����� ���� 
�� !���� �� "����# �� ���$�	�	���� 
�� ��� %��������
����	�� 	�#�����& '�#��� ����� ��� ()�����������������	 ����� *��	��	 �� ����#
+����� � ������ ���	������� ��� ��������,��� ����� ����� #�� "����# 	�������� *������
	�������& '����� *������ ���� +��-���� 	������& �# .��� ��� (�������	�� ������ ����
���� %���� ������ ��� ��� ��� ( �����# ��� (�������	 ��	������� �����& /��� ���
������	 ��� ��� (���$�-��	 ��� %���� ����� �� ����� 	������� (����� ��� ��, ��� ���
'�����$���	���� ��� "����#	���� ��� ��� ���� ��������� �������$�	�� �&�& �� ������
����� ������ ������ ���	���##�� 0����� ���& 1&1 �� (���� 23& '�� "���
����#���
����� ��� ()���������� ����� ����� ���� ��& 455 �# ����� ���#����#������� 
�� ���
+��-���� 	�������&

�� #������� .6 ���#����� �78� 77� ���� ���� ��� 
�� ���� +��-���� ���	����-�� ��
���� 9����� ����� ��� ����� ����� ������� ��� �������-��	��	 	�#�����& ��� ������
������� �:���� ����� ����� ;���$��� ����	������� ������� ��� ��������� -��������&
'��� #�, ��� ��� ����� �������� ��� ��,��	������� ������������	� ������& '�� ��������
������ ��� ���� %������� #�� ����� ���� 	���� ��<������� .���	�� �� ��� +��-����
���	�������& '���� ��� ����������������� �����	���� ������ ��� ��� ��� %��������������
���� ��������� He+������ ��� .��������� -� ��� .��������� ������ ��� ��	���	��
0����� ���& 8&43& '������ =��,� ��� ������������ (���#� ��� #�� ����# �# <��������
�# ���#���� 	�#����� ����& '�� (���#=�, ��� 	�	������ %�����������	�� ��� ��#��
��� ���-�	� ��,	�:,�& '�>����-����� ������	�� ���� ��������� ��� .��-�������� N ���
��-��	��� He+������ ���� #�� ������ ?������ ����� #:	����&

'�� ���	� ��� ������������������ ��������� ��� #�� ������ ������� �����	������ ����
���� ��� ����$������� �77�& ���� ������ 	�-��	��� ( ������ 0���& 1&1� 1&8� 1&@3 ������
#�� ������ ?������ ���	���##��& �������� .�	������� �7@� ���� �� ��������	 1&2 0(����
473 ���������&
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�"������  �# �������� 	������� ������- �� ���� ������ !��������	�� ������ ��� ���
(������������ ���������
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 ��	��
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 �������	�
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����� ���������� �����	�����	$��� �� $�����������
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+� ������	����� -��� ����� ������ -�$��������	�� ��� ��� ���'�������� ��	���3���
����� ��������	
 /�� �.	������ ���3����� -��� ����������� �� ��	��1 ��� "�������,
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���
 ����$��
 ��
 
�� �E %��
���
�� �� 
�� x′ ×
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���� �ex′� �ey′ ��
 �ez′ 
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�ey′ =
�B × �E∣∣∣ �B × �E

∣∣∣ �ez′ =
�B∣∣∣ �B∣∣∣ �ex′ = �ez′ × �ey′
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��	 ��)* ��� ���� ��� 	
���
��� �� ����
������ (xe, ye, ze) ��� �� ���
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ẍ′
e =

−e

me

(
− ẏ′

eBz′ + Ex′
)

= ẏ′
eω − e

m
Ex′ ���1�

ÿ′
e =

−e

me

(
ẋ′

eBz′
)

= −ẋ′
eω �����

z̈′e =
−e

me
E ′

z ���2�


� Ey′ = 0 ��
 Bx′ = By′ = 0 ��
 ��
 ω = −e Bz′/me 	���
"
 ���
�� �����
%.� 
�� ���	��
�� 3������	�� ���� Bz > 0 	��
���

��� -����	 ��� ��������	 ��2 ��
 ������� ��
 ���
�
 �����	 "� ��� ��4*

Pez′ = me
z′e
T

− me
−e Ez′

2 me

Te ���5�
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ÿ′
e (t) = −ω

(
y′

eω − e

m
Ex′t + Aω

)
= −ω2

(
y′

e −
Ex′

Bz′
t + A

)

��� ��	 ���� �
 ������������ +����	���������������� A� ,���	��� ���� y′
e �-�	� �


y′
e =

ÿ′
e

−ω2
+

Ex′

Bz′
t − A %��.(
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y′
e(t) = R sin (ϕ + ωt) +

Ex′

Bz′
t − A %��0(

��� ��� ������ ��
�� ���������� R 
�� ϕ� ��� ��� ��	���� ��� ���
���� &�
��
���1
������
�� �-	 y′

e(t)� 2
	 2��� t = 0 �
3 y′
e = 0 ����� ���
	�� ��� A ���������� �
�

A = R sin (ϕ)

��� &�
��
���������
�� �-	 x′
e(t) �	���� ��� �
	�� ��������� ��	 !�����
�� "�� )��

��0 �� )�� ��� 
�� ��������3����� +����	��	��4

x′
e(t) = −R cos (ϕ + ωt) + C %��56(

��� C = R cos (ϕ) 
���� x′
e (t = 0)

!
= 0� 7���� �-���� ���� R 
�� ϕ �������� 
�	����

!
� )�� ��0 
�� ��56 ����� 
���	 !�
����
�� ��	 !������������	��� �-	 8������
��1
������4 (

y′
e(t) −

Ex′

Bz′
t

)2

+

(
x′

e(t)

)2

= 2 R2
(
1 − sin (ϕ + ωt) sin (ϕ)

− cos (ϕ + ωt) cos (ϕ)
)

= 2 R2 (1 − cos (ωt))

= 4 R2 sin2
(ωt

2

)

=⇒ R =

√(
y′

e(t) − Ex′
Bz′

t
)2

+
(
x′(t)

)2

2 sin
(

ωt
2

) %��55(

9
� �
3 ��� ������ ��������� ϕ �������� 
�	���� ��� &���������
���� )�� ��0 
��
��56 ������� ���� 2������� �� :�	�����	��	� ��	� 9��� )�� ��0 ��
��� ���� ��	 ;�����1
<
��� ��� 2���������	����� ��� ��	 )����
���������

Ex′
Bz′

� ϕ ��3� ���� ������ "�� &���

��= ������	���� �	�������4

ϕ = arctan

(
y′

e(t) − Ex′
Bz′

t

x′
e(t)

)
− π − ωt

2
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Pex′ = me ẋ′
e = me R ω sin (ϕ)

Pey′ = me ẏ′
e = me R ω cos (ϕ) − Ex′

Bz′

��� ��
 �
�� Pez′ = me
z′e
T

− me
−e Ez′

2 me
Te

��! ��
 �
��� R =

√(
y′

e(Te) − Ex′
Bz′

Te

)2

+
(
x′(Te)

)2

2 sin
(

ωTe

2

)
ϕ = arctan

(
y′

e(Te) − Ex′
Bz′

Te

x′
e(t)

)
− π − ωTe

2

'���� Te ��� ��#��!(�	���! ��# $���!���# �#!
 ��� )� ��#��� ����!�� '����� ���

*�� (x′, y′, z′)+,-#!�� ��# .����#-#!�� �/��!���#"������!
 ����! �#! ��� ���������	

��# )� ��#�# �Pe ��	�#����##��


���#� ,����!!�0 �
�
 ��� 1���#"����!��� (xe, ye, ze) → (x′
e, y

′
e, z

′
e)0 ��� ��#�����2����

���������	 ��� )� ��#��� ����!�� (Pex′, Pey′, Pez′) ��� ����� 3/��!���#"����!���

(Pex′, Pey′, Pez′) → (Pex, Pey, Pez) '����� ��������� ��# ����-#� ��	����# "/� 4���

�������� 3���!��� �����	�"/��!
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�		������ ���  ������������
 ��� %���������	� ��� ���������	
 ���� &������	 ������' ���
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(�� (*��� ��� %���������	� ���  ,����� *����	 ��������� %���������	�������	��	

��� &����	�	�	�����	 �*�����	 Eγ =-.
�� �/ �	� Eγ =-0
0 �/ �������"����� -.
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�/ ��� ��� 
�	��	���	����� ��� �����	 $������	�
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 ��� ��� -.
�� �/ ������ ��� 7 ��/ ���� 
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 ��
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��� �������
�������� �����
�
���� ��� ����
 ����������� ���
��� ��� *+%,- �. � */%+- �. ) ,%+ �. �
������ $����

$�������� ��
�� �����
���� ����#���
�% ����� ��� ����������� ��� �
�������������
��
���
� ��
���% �� ��� 	�
�� �� 0����% ��� �� ��
 ������ ���
����� !���� �
�
���
�� 1��� +�� ��� ��� 1
���� 2�	345 ��
 ���������� ���
�������� �� 6��&�������� ���
��� ������ 4�������������������� Bx ��� By �� ��
� ��� 7
�������� ��
���������

$�� 4������������������� Bz ��� ����� ���� 6����
���� ��� ��� ���
����� !����
��� ����
�� �� �
���
 8&��
��� ��������� ���� $
����� ��
 ��������
������� �� ���
"����
�����
������

�

 9���� 	�
�����
 (Bx, By) ��:% ��� �� 6�������� +�;�* �����
�����% ��
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���� ��� ������	�������� �
�
��� ��	������
�������
�� ��� Eγ � ���� �! ��������		�
 "�� �� #�
��$
����� $
�%&�'
�	������� He+'��� ���� ��� "������
	� ��� ������������ ������� ��&�� �
(������

"�� ���
	�������	
�� ��� ����������� )	�������� �
* ����� ��� +��� ����� "���	���'
���	
�� �
(,������ �� ��� �
�������� )	������ ��� "������
	� � = 1 ��� �������
�������-��
 .������������� ��	� ���� �
� (%� ��		��-���� ��	���������� /�&��
 "�� ��'
	�������������� ,��� �� �-&����� ���&����� ������&���


"�� "���	(��� ,��� �
�&� ��� 0���
�� �
� ������
$����
 1
��������� $���� ��� �
&� ���
��2���� ��� β'������������ ��� ��� ��� +��� ��	&��� ���
	�������	
���� ���&�������
,����� ����
 "�� )������� ��� +��� ����-�� β = 1, 9841 ± 0, 001
 "�� 	���� ��&�� ��
����	,���� β = 2
 �
� ������ 3��� ���� ���&�	����� ,������ ��* ��� 3����	�
45�
��
��� �������
� �
����&���� ���� 
� �
&� ������� 6����
���� ��� 3����	������	
����
��&�$
,�����
 ����	�
�� �
� $���� ��� ��������� "���	������	
�� �� ���
	���
� ��
��� 7$')���� �$,
 8$')����
 9
� !���	��&� ���� ��� �	��&��� "���� �� ����	�
�� �
 
��������		� ' ���� :���&� ,
��� ��� 0�����(�	� �� ��� +����	� $
� ���
	�����&��
��
��&�� ���%&���&�����
 "�� ���
�&� ������������ !��$���
����;���� ���� (%� 	���������
)	�������� <Ekin < 0, 5 �!= ��&� ������������


����� �	� ����������������
 �����	������	�	��

"�� >������� ��� ��	��������� ��� ����
$������ .8�&������������	
�� ��� ���� ,�&���'
�� ������5*�
 ������ ��� ������� ,����� ���� ���&��������� ��	������
�������
��
��� ����� ��������������� ��� Eγ = 25, 08 �! ���� ��� ��	�������
������� ��������
,������ �� �� ������ +�		 ��� )��������������	
�� ��� )	�������� ������� ��� <β = 2=

"�� )������� ��� ���������� ���&�������� �
�
 ��� ?����&��� ��* ��� ��������� β'
��������� ���� ��&�� �� ����	,��� β = 2 	����� ��� ������� ��� @��,��� ����
(� ��* ���
��	�������������� ��� .����	
�� ���� ��&� ���


"�� #��� ��� ��	��������� ,��� �
�&� ��� .�������������� S1 �
�����%&��
 )� ����
��� @�	(� ��� #	
 �
A� <.
 �A= �
� ��� ��	������
�������
�� �������	� ,�����
 @���$

,����� �
��&�	��*	�&� )	�������� ���%&���&������ ��� �������	� ��� )���� 	������ ���
���������	 $
� /�&�������	 ���������� ��� <|px| < 0, 015 �


=
 +%� ������ +�		 <β = 2�
φ = 0= ������(�&�� ��&� #	
 �
A� $


dσ(θ)

dθ
=

σtotal

4π

3

2

(
1 + S1(2 cos2 θ − 1)

) 1

sin θ
<�
A�=

"�� ?��� 1/ sin(θ) �
* �
(��
�� ��� ���-�������� ��� >�
�,����	�	������ dΩ ��� θ
���$
��(%�� ,�����
 "�� "���� ���� $
������ ��� ��� +�� �� ����	�
�� �
A� �����'
���		�
 )� ,
��� ��� .�������������� �������	� ��� S1 = 1, 0±1, 8 ·10−3� �
�
 �������	�
��� 0�*����
������ ��� .8����� ������ ���� �����	 ��� �������	 ��	���������� .����	
��
��&���,����� ,�����
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����� ����������� 	�� �� ���� ������
 
 ������� ������� ��! ��	 ������� �! ������ "���� ����� ���
���
����� #���������
����� ��
  �	�� ���� �������� $�� 	�� ������
�� ������� ��	 $����%���
 ����  �
�%����� �������� ��� &���������
������ ����� �&���� ��� ����� '�������������������
��� �%������
 ��� ��
�������	������ �������� 	������(&��
 ���	���

��� ���(���������
������������ "��� ���� �����
 �	��
�) ���
 ���	��� 	� ��� ��������
�����( ��
� *�
������ $�� +,��- �! "��� "���� 
��
�������
��� $�� .����� ��(������ ���
����������
�� ���
� ��( +,��/� �! ������
���
 ���	��� �� 	�� �0�"
� 
���
��� 	�����
1�������  � )�	��� ��� ���
���
����� ���������� ��� 	������ ��� 	����� �������
���� �������

���� ���
��� ������� ���	� �� 	�� 2, 14�2������ ��� �,�34� �! 	������(&��
� 1�� ��

	�� �����"
����
����� #��� ����� #����
��)��� 53�� 3/6� 7� �����	��� +�4 ��( 1��
� 8
��
 ��� 	���� ����� 2����� ���$���������� ��� 9���
� 	����� 2������ Γ ��
 ��"���
�
��������� 5,�6 ��	 2��������� 5�-� �86 ����� 	�� (�����	�� :��
� �������;

Γ = 6, 0 ��!� q = −2, 40� ER = 64, 1358 5,�6 � ��
Γ = 5, 5 ��!� q = −3, 32� ER = 64, 1364 5�-6 ��	
Γ = 5, 7 ��!� q = −2, 93� ER = 64, 1370 5�86�

(nicht kalibriert)

�����	��� ��33; ���� �����	�
�
� ������
�� 
�� He+����� ��� 
�� �������� 2, 14 ���
������ ��� ���� 
�� ����� ������������ ��� 
�� 
�� (n = 4)��������� 
�� (2n−)������� ���
������ ���� �� 
�� �����
��
��  � � ��
  �� ��!� �� 
�� "���� ���
� ��� #����$��%�
��
�%���� &���� '���(� ��� 
�) ���
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�� ��)�������� *������ )�� +�������������� ,�'�
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� ��� ��������� ��� ��������� �����
���
�	����� ��� ��� �������� ��� ���� �Γ < 6, 35 ���� �
��� ���� ��������
 !�
��
"
� ��� #$%& ��� ��'()� ��� �*$%#� �� ����� ��� #$+ ��� ��'()� ��� ����� ��
�
�
���������� "
� &,$- ���� (!����	������������� 	�� ��� �
 !�
�� ������� '��� ���
��� �./������������ '����� �
� 0*-1 ���������$ �
 ������ ���� ����
� ���� ��������
��
�!�
�� "
� ��� 2$+ �� ��'()� ��� &,$- ��� ��� ������"� ��	����
�� �� ��� �
����
�
��� 3��
���4 ����5�� ��� 2% ����

6
�5�4���� 4
 ������ )���
���� �!���� ��� 7��	����� ��� ���4����� ���4
��5��� ���
4
�8������������ He+�9
�� ���� ����
 ��������� 	������ (���4
 	����� ��� ������
�
� ������
�� ��� �
� 7���� &, ���������� �9� ������ ������
�� ��� ��� .������ ���
����� ������������ ��� 7������/
���� ������ ������ ��� ��� .������ ������� ��� :�	������
7��	����$ �� ��� ��� ��
�� ���4
����� He+

(N) ��"!����� 	����� ����� ��� �
����
���

������ 7��	����� �!���� �8� He+ ������ �
���������� 	����� �;�� 2�%$ 7���� *�� <���
������ )���
�� ����� ���� ���� ��	����
�� ��� ���
�
��� ��
�
���������� "
� ��
)
�
���
���
� ������������� <
�����	��� "
� ��� 2# ���� ��� ���������� ��� ������
"
��������� 
����5������ =��������
�������
��� ���� ������� �
���������

����� �����	
��� ��� 
��
��
���	�

��� 7���� ��� ���
�
��� ��
�
���������� �
���� �
� ��� # ��� ����
 ���������� 	������

�8� ��� ��
�
�����������
 !�
�� ���� ���� 
���� ;���4� "
� ∆Eγ>#$+ ��� �8� ���
?������ Eγ <&+ �� ��������� 	������

9�������� ��� )�@����
������ �
���� ���� ������ "
� "������� /
����������� 7�����
��
������	����� 	������ ��� ;��� ��� �
��������
� 	��� �
��� ��� 7�
���/��������� S1

A
��������" �
�����8���� ���� =��������
�������
�� ����� S1 = 1, 0 ± 1, 8 · 10−3�

��� �
 !�
�� ∆Ekin ��� 7/����
������ ���� ������ �
� ��� ���������� ����� ���
������� 	����� �?�/	� �
� ���� ��% �
� 7���� &2�� 7�� ��� �� ������
�� -�%2 �����
��� ���������� ������� Ekin ��� ������
��� �
���������� ����� �
 !�
�� ��4���� ����
��������� �
� ��� )���
�� ��� ����������� �������� ��� ������
��� 
�� �
���� �����
��� ��� ��
�
�����������
 !�
�� ∆Eγ "��	������� 	������ �
� ������
�� -�%2 ����
���"
�$ ��@ ��� �
 !�
�� ��� ����������� ������� ∆Ekin ���������� "
� ��� �����������
������� ���5���� ��� ;�
�� ���8� ����� �� ��� �
�������� B���� 
�� 6����
 !�
�� ���
������
���$ ��� 4
 ����� ����4
 �
�������� 9�/
���
 !�
�� ��� 7C����� 4	������
∆pe = 15, 9 · 10−3 ��
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�� ∆pe = 21, 1 · 10−3 ��
� �8����
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	���
�
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Photonenenergie (eV)
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Photonenenergie (eV)
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/�����0%���� ��� He+�1�������� ∆tHe+ = 4 �� 7'+(�8
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!� "�������� 	�� FTh(x) ��� ������������ ��������	
�� #���� �� $����������� ��� ���
��������������� E ��� ���������� #���� Fgl(E) ������ 	�
� ���
� %
����� ��� FTh(E)
��� ����� &
�'���������� 

Fgl(E) =

z=+∞∫
z=−∞

FTh(z)
1

σ
√

2π
exp

(−(z − E)2

2σ2

)
dz () *+

$�	
����'��� ��' ��� ,
���������� ��� - ��. ������� ��	 ,

�	 ����
�	�
����� ����
��� /� ���	�� /��
� ���� ���� .����
�� ��� 0���������� �����
���� (	���� $�� 1 2+ 
3���� ���	�� 0��������� ��	���� �� �4����	�
���� $�	������ ��� - ��. ,����	�������
��� 
�" ��� ����������� #���� Fgl ������ !� ��� $�������� 	��� ��� ���� 0���������
��������
���� ��� ����������� ���	�� 0��������� �	� ��� 1����
�� �� ��� ��� 0��������
��� ��������������� �
��� ������ 	������ "
��	 ���� 
�	����� 5������	������� ���	
���
6������ ��� ���������� ��	���� ���	� ������������ 	��� �� ��� $���������� 2 7 ���
2 8 (,���� 9: ��� 92+ 
�	 ��
�� 1����
�� �
���	����� 

**;
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�����

� �
� ���
���
�	�

��� ������	
����

���������	� 
�� ���	���
�
 3, 3 ��

���������	� 
�� He+���
�
 26, 35 ��

���	������� ���
����	� ���� ���� ��� Eγ <���� ��

��� ���� ��� Eγ >���� ��

!��"��#��� 
�� $#�
���  � ◦%
�
����
�
� &��� '� (	����� �) ��

&���������� 
�� (	�������
�#
�� *+)�, ��

("�	��������#-�����.������ /#����
0����+)� �� 1�)2 !�#
�������
3

&���#
' (	��������� '� !#����'�
� LTarget = 8 ��4

�

�
�#
��� 
�� 5�"���"�#���
 �� ��4

6-��#

 $������e−�&���	��� � ��

6-��#

 $������He+�&���	��� �, ��

�
�����#�74 
�� 	�
�������
 �
�����
 (���� 6--4 �4� � (4 ��

��"���#�78��
� ∆pe ≈ 17 · 10−3 #4�4 1�9:/3

���
��
����� ��� ��	�	��������
�

6-������ 5#��-�����
� 
�� �
����� Eγ -����� #�� � ���

;����
�
�
�����#�78��
� ∆Eγ -����� #�� ,�� ���

<����� 
�� ;����
�
���#��� �� ��	�� ∆Fhor < 0, 25 �� 1�9:/3

∆Fver < 0, 2 �� 1�9:/3

;��#���#���
���#
 1(��	��"#�#����� S13 S1 = 1, 0 ± 1, 8 · 10−3

���
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� � � �!�

"�
��
������ #
���
� $$� �!�

"�
��
������ %&����������


� $$�� �!� 
�� '�� �!� (�����
��
�����

����������
� �
 #
���
�∗ 3, 5 · 10−6 
���

����������
� �� �
� 	������


�∗ 1, 1 · 10−6 
���

)����
� ����� �� �
� *
�������+��
∗ 1, 2 · 10−4 
���

����� �� �
� %&����������


�∗ 1, 2 · 10−3 
���
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 *�������
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��

1��
�
�����
 ����
� 2�������
���� �$�/� ��

e−3�
�
���� �� �� 	+

He+3�
�
���� ��'�� 	+

�
��4����� e−/He+ $/�' 5 � ���4�
� 
�
� � 5 �

�
�
� ��
����
�
� 6���
������ ��.3

����� 7�� �����
����
� �� �
� ���
�

-���+��
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� 0��� 	+

6��+
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� ���
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��������� ��� 	�
����

��� ��	������

�������	
� �

����	 He+���	�	 ��� �����
�	���	� �	� �	������	�� � � �

������ ��<Eγ<���� �� ������� ����!���� ���" �#� 

����
��
�
��� $  ��

%�!��	�  �	� &��
�	
��� ��� ����
��� ��' 7, 3 · 106

(�)�	 He+���	�	 ��� �����
�	���	�� ��' 6, 07 · 106

*�+�����∗ ��� ����
��� $� ,
� �- *
	���	
���� ��<Eγ<������ �� ������� ����!���� ��./ �#� 

����
��
�
��� $  ��

%�!��	�  �	� &��
�	
��� ��� ����
��� ��' 1, 08 · 106

(�)�	 He+���	�	 ��� �����
�	���	�� ��' 0, 9 · 106

*�+�����∗ ��� ����
��� . ,
� �$ *
	���	
������ ��<Eγ<���� �� ������� ����!���� ��./ �#� 

����
��
�
��� $  ��

%�!��	�  �	� &��
�	
��� ��� ����
��� ��' 10, 54 · 106

(�)�	 He+���	�	 ��� �����
�	���	�� ��' 8, 76 · 106

*�+�����∗ ��� ����
��� "� ,
� �/- *
	���	
0 (
� *�+����� 
�� �,��	�
� )�	 ��� ������
	��	�
��� 1�'�' )� �
	����� 2'
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���  � !���"��� #� $� �������� ��% &� �
�'�%	� ���	� ���� ����� ��� ����(�� �� �

�(� $���� &������%�� �� ���	� � ��� ����)�� *��

��� $� +�,�-�.�,�� /� 0�1��	 ��% 0� 0����%� ���	� ���� ����� ��� ������� �� ���

��� �� 2������ /� 3�
�	��� $��#� 3��	 ���� ���� ���	� ��� ��444�� �� (�)

�)� $��#� 3��	� /� �
���-� #� 0�',� ��% �� /���%� �� ���	� � ��� ����)�� �� (���

��� 3� �� #�%%�� ��% /� &�%���"� ���	� ���� ����� ��� ������� �� ���

��� 3� �� #�%%�� ��% /� &�%���"� �	������	� �� ���� ������� �� ��(

��4� 3� 5��%%��"	�� ��% �� �����	��6� ����� ���� ���� 	���� ����(�� �� (��

���� 7� 8� *����		�� ��% �� ���9��'��� ������ ��������� ��	����� �� ������� �� ��4

���� �� !��	���� �� ���	�� 
�� ������� �� �))

���� $� 5� &��1��� :� ;��� ��% ;� ���	�� ���	� ���� ����� ��� ������� �� ���

��(� *� *�1�,6 ��% <� 3����,� ���	� ���� ���� ������� �� ��

���� 0� 3� �����
, ��%  � �����=�"��� ���	� ���� � ��� ���)��� �� �)

���� :� ;���� ���	� ���� ���� ������� �� ����

��)� :� ;��� ��% $� 5� &��1��� ���	� ���� � ���� ������� �� ���(

���� :� ;���� 
���� ������� ��� ������� �� ���

���� �� <� !�	���  ���!��� ��� ���	�� "�����#��$%����#& ������'� ���� ��� �������
��(��

��4� $� &��1�� ��% 3� 8� +��� �� ����� ���	� ��� ������� �� �(�
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���� �� !� "��� ��	
� ���� ��

� ��� ������� �� ����

���� �� !� "��� ��	
� ���� � ��� ������� �� ����

��#� $� %� &����� ��� $� �� '����(� ��	
� ���� ��

� ��� ����)�� �� ���

��)� $� %� &����� ��� $� �� '����(� ��	
� ���� � ��� ������� �� �#��

��*� �� �� +� %�((�, ��� �� '� -� %�	�� ����� ��	� ���� � ���� ������� �� ���

���� �� �� +� %�((�,� ���� ���� ��	
� ��� ���#)�� �� ���

���� .�  � '��/�� !� !� %������ ��� 0� �
�
	� ��	
��
 ��

��
 ��� ���)��� �� ��#

���� .�  � '��/�� !� !� %������ ��� 0� �
�
	� ����� ��	
� ���� ��� ���)��� �� *��

���� .�  � '��/�� !� !� %������ ��� 0� �
�
	� ��	
� ���� ��

� ��� ���)��� �� ##�

���� .�  � '��/� ��� !� !� %������� ����� ��	
� ���� ��� ���)#�� �� ���

���� .�  � '��/�� !� &�  �11�	�� ��� ��  �1

��� �� ��	
� � �� ���)��� �� ����

���� 2� '��,� ��	
� ���� � ��� ������� �� )��#

��#� 2� '��,� !� �� &��(�� 3� �� 0	��4�
( ��� 3� 5� �
�16�7��( �� ��	
� � ��� �������
�� ���*

��)� 8� .� +����� ��� "� 8�(��6��� ��	
� ���� ��� ����*�� �� ��

��*� %� 3,
��� �� ��  ����� ��� 8� "��90������ ���
� ���� ��	
� ��� ����)�� ��
���#

���� 3� %� "��� ��� ��  � 5	�
�(� ���
� ���� ��	
� �	� ���#��� �� �#*

���� :� &��� ��� �� %� "��� ��	
� ���� ��

� ��� ���*��� �� �#*�

���� 3� '��	1��
���� '�  �;
��� ��� !� !�1����� �� ��	
� � ��� ������� �� �))�

���� 8� '�1(1�7 ��� $� %� ��
6�(� ������� ��
�� ��	
� ��� ���*��� �� ���

����  � !� !��1��� $� <�

�11� �� +� �
���
� ��	
� ���� � �	� ���*��� �� �)��

���� %� !�
/��  � ��

��( ���  � 0����1� ��	
� ���� ��

� ��� ������� �� ��*�

���� %� !�
/�� 0� ��	�1=�  � ��

��( ���  � 0����1� ��	
� ���� � ��� ����)�� ��
����

��#� 0� ��	�1=�  � 0����1 ��� %� !�
/�� ��	
� ���� ��

� ��� ����)�� �� ���)
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